SUPERINTENDING ENGINEER, ELECTRICAL CIRCLE,
UT CHANDIGARH
Posts: (i) Junior Technician (Electrician) &
(ii) Junior Technician (Lift Operator)
Question Booklet & Answer Key
30.4.2023 Sunday (Morning)
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How the value of capacitance can be decreased?
A) Increasing the plate area B) Increasing the resistance of the plates
C) Increasing the distance between the plates D) Using high dielectric constant material

What is the total inductance if 3 inductors (L, L; and L3) are connected in series?

A LT=L;xL;xLs B)LT=L;+1L,+L;
OLT=1L+1/1+1/13 D)LT=1/Li+ L+ Ls

Which material is the paramagnetic substance?

A) Cleat wiring B) Copper C) Bismuth D) Graphite

Which is the correct expression of capacitance C if the electric charge is Q and the voltage is V?
A)C=Q/NV B)C=V/Q C)C=VQ D) C=1VQ

In which device the air capacitors are used?

A) TV tuner B) Oscillator C) Loudspeaker D) Radio receiver

What is the effect of inductance if the distance between the turns increases?

A) Increases B) Decreases C) Becomes zero D) Remains same

What is the resistance of the inductive coil takes 5A current across 240V, 50Hz supply at 0.8
power factor?

A) 48 Q) B)42.5Q C)384Q D) 26.6 Q

What will be the readings of two watt meters (W; & W5) in 3 phase power measurement, if the
power factor is zero

A) W; & W both are positive reading B) W is Positive and W5 is negative reading

C) W, is equal to W, but with opposite signs

D) Zero W is Positive reading, and W5 is negative reading

What is the power factor in a 3 phase power measurement of two wattmeters showing equal
readings?

A0 B)1 C) 0.5 D) 0.8

Calculate the value admittance (Y) of the RLC parallel circuit connected across 240 volts/50 Hz
AC supply and 8 Amp. Current is passed through it?

A) 3.33 Mho B) 0.33 Mho C) 0.033 Mho D) 0.003 Mho

Which electrical term is defined as the total opposition to current in AC parallel circuit?

A) Resistance B) Impedance C) Admittance D) Susceptance

What is the line voltage in 3 phase system if the phase voltage is 240V?

A) 380 Vol B) 400 Volt C) 415 Volt D) 440 Volt

Which law states that in closed electric circuit, the applied voltage is equal to the sum of the
voltage drops?

A) Ohm’s law B) Laws of resistance C) Kirchhoff’s first law D) Kirchhoff’s second law

What is the change of resistance value of the conductor as its diameter is doubled?

A) Increases to two times B) Decreases to four times

C) Decrease to half of the value D) No change in value of resistance
Which material is having negative temperature co-efficient property?

A) Mica B) Eureka C) Copper D) Manganin
What is the unit of resistivity '

A) ohm/cm B) ohm / cm® C) ohm - meter D) ohm / meter

What is the effect on opened resistor in series circuit?

A) No effect in opened resistor

B) Full circuit current will flow in opened resistor

C) Total supply voltage will appear across the opened resistor
D) No voltage will appear across the opened resistor

Which type of meter is used to test the polarity of battery?
A) Moving iron ammeter B) Moving coil voltmeter
C) Moving iron voltmeter D) Dynamo meter type wattmeter
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Which method is used for measuring 1 Ohm to 100K Ohm range resistance?

A) Substitution method B) Kelvin bridge method

C) Wheat stone bridge method D) Voltmeter and ammeter method
What is the value of resistance in an open circuit?

A) Zero B) Low C) High D) Infinity

What is the output voltage of lithium cell?

A 12V B)1.5V C) 1.8V D)2.5V

Which technique is used to control the corrosion of a metal surface?

A) Anodic protection B) Cathodic protection

C) Electrolytic protection D) Electrostatic protection

What is the purpose of hydrometer is used during charging of battery?

A) Determine the AH capacity B) Assess the battery voltage level

C) Assess the discharge level of battery D) Determine the specific gravity of electrolyte
Which material is used as cathode (-ve) electrode in silver oxide battery?

A) Zinc B) Copper C) Carbon D) Silver oxide
What is the effect of buckling defect in a lead acid battery?

A) Bending of the electrodes B) Reducing the strength of electrolyte
C) Making short between the electrodes D) Increasing the internal resistance
What is the effect of low current rated cable used to connect higher current load?

A) Voltage drop increases B) Load current increases

C) Voitage drop decreases D) Cable damage due to heat

What is the purpose of tin coating on copper fuse wire?

A) Withstand high temperature B) Increase the fusing factor

C) Prevent oxidation of copper wire D) Increase the mechanical strength
What is the term for the time taken by a fuse to interrupt the circuit in fault?

A) Time factor B) Fusing factor C) Cut-off factor D) Fusing current
Which electrical equipment is provided with L series MCB?

A) General lighting B) Motors C) Air conditioner D) Halogen lamp
What is the length of thread on rigid conduits as per BIS?

A) 9mm - 20mm B) llmm-27mm  C) 13mm-25mm D) 15mm - 30mm
Why A.C is required to measure the earth resistance by using earth resistance tester?
A) Regulate the current B) Increase the voltage drop

C) Decrease the voltage drop D) Avoid electrolytic emf interference
Which instrument is used to test new domestic wiring installation?

A) Multimeter B) Megger  C) Shunt type ohmmeter D) Series type ohmmeter
How the earth resistance can be reduced?

A) Providing double earthing B) Reducing the pit depth for earthing

C) Increasing the length of the electrodes D) Decreasing the length of the electrodes
What is the effect if a person receives a shock current of 20 mA?

A) No sensation B) Painful shock C) Heart convulsions D) Become unconscious
In which position MB type high pressure mercury vapour lamps are operated?

A) Vertical B) Inclined C) Horizontal D) Any position

How to achieve maximum accuracy in measurement using analog instrument?

A) Keep low input impedance B) Keep high input impedance

C) Use short connecting leads D) Provide correct damping system

What is the function of conservator in transformer?

A) Prevents the moisture entry B) Transfers the heat to atmosphere

C) Allows to release internal pressure
D) Allows expansion of oil level due to load variation
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What is the condition for obtaining maximum efficiency from transformer?

A) Copper loss > Iron loss B) Copper loss < Iron loss

C) Copper loss = Iron loss D) Copper loss =Eddy current loss

Which construction technique is used to reduce copper loss in larger transformers?

A) Use of laminated core B) By reducing core thickness

C) By using grain oriented core D) Use stepped core arrangement

Which is determined by the crackle test of transformer 0il?

A) Acidity B) Moisture C) Viscosity D) Dielectric strength
What is the function of buchholz relay in power transformer?

A) Protection from high temperature B) Protection from moisture entering in oil
C) Protection from pressure loading in tank

D) Protection from both overloading and short circuit

Why ferrite core is used in radio receivers?

A) To reduce the constant losses B) To reduce electric interference

C) To increase the quality of sound D) To increase the efficiency of receivers
Which rule is used to find the direction of induced emf in D.C generator?

A) Cork screw rule B) Right hand palm rule

C) Fleming’s left-hand rule D) Fleming’s right hand rule

Which energy is converted into electrical energy by generator?

A) Heat B) Kinetic C) Chemical D) Mechanical

How interpoles are connected in a DC generator?

A) In series with armature B) In parallel with armature

C) In series with shunt field D) In parallel with shunt field

What is the function of split rings in DC generator?

A) Maintain constant voltage B) Collects the current unidirectional

C) Reduces the voltage drop at brushes D) Increases the terminal voltage than rated
Why commutators are sparking heavily?

A) Incorrect brush position B) Incorrect field connection

C) Incorrect direction of rotation D) Incorrect armature connection

Which insulating material used in winding, is a highly non -hygroscopic and possess good

electrical strength?

A) Empire cloth B) Triplex paper C) Millinex paper D) Leatheroid paper
What is the formula to calculate the slip speed of 3 phase squirrel cage induction motor?
A)NslipzNS—'NT' B)Ns]jper—Ng C) Nslip=Ns_erN'r D)NsﬁpzNS_NT/NS

What is the phase displacement between windings in 3 phase motor?

A) 90° B) 120° C) 180° D) 360°
What is the name of the coil winding?

A) Concentric coil winding B) Distributed coil winding

C) Mesh shaped coil winding D) Diamond mesh shaped coil winding

What is the synchronous speed of a A.C 3 phase induction motor having 6 poles at a frequency

of 50 Hertz?
A) 800 rpm B) 1000 rpm C) 1200 rpm D) 1440 rpm
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Which type of test is conducted using internal growler in AC motor winding?

A) Ground test B) Polarity test C) Continuity test D) Short circuit test
Which type of motor is used to provide high starting torque at variable speed?

A) Universal motor B) Permanent capacitor motor

C) 3 Phase slip ring induction motor D) 3 Phase single squirrel cage induction motor
What is the starting current of an A.C 3 phase induction motor?

A) 1 to 2 times of full load current B) 2 to 3 times of full load current

C) 4 to 5 times of full load current D) 5 to 6 times of full load current

What is the speed control method of 3 phase induction motor?
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A) Cascade operation method B) Rotor rheostat control method
C) Changing applied voltage method D) Injecting emf in rotor circuit method

Calculate the number of coils /phase/ pole for a 3 phase double layer distributed winding for a
motor having 36 slots, 36 coils and 4 poles?

A) 3 coils/phase/pole B) 6 coils/phase/pole

C) 9 coils/phase/pole D) 12 coils/phase/pole

What happens to a 3 phase induction motor if one phase fails during running?

A) Motor runs normally B) Motor stop instantaneously

C) Motor runs slowly, finally it burns D) Motor runs with irregular speed
What is the reason for frequent blowing of fuse after a motor runs for some time?

A) Improper earthing B) Over loading of motor

C) Heavy voltage fluctuation D) Poor insulation in winding

Which fault condition thermal overload relay protects A.C induction motor?

A) Short circuit B) Open circuit C) Over current D) Under voltage
How to produce starting torque in a shaded pole fan motor?

A) Using rings on poles B) Using capacitor on winding circuits

C) Interchanging cage rotor windings by switch
D) Interchanging the field coil windings by switch

What is the supply frequency of an alternator having 6 poles runs at 1000 rpm?

A) 25 Hz B) 40 Hz C) 50 Hz D) 60 Hz
What is the purpose of damper winding in alternator?

A) Reduces the copper loss B) Reduces windage losses

C) Reduces the hunting effect D) Improves the voltage regulation

Calculate the voltage regulation in percentage if the load is removed from an alternator, the
voltage rises from 480V to 660V?

A)272 % B)325% CI37.5% D) 38.5 %

What is the cause for hunting effect in alternators?

A) Due to over load B) Running without load

C) Running with fluctuation of speed D) Due to continuous fluctuation in load
Why D.C supply is necessary for synchronous motor operation?

A) Reduce the losses B) Start the motor initially

C) Run the motor with over load D) Run the motor at synchronous speed
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Which application requires only DC?

A) Electroplating B) Stepping up of voltage

C) Operating induction motor D) Operating Repulsion motor

How the synchronous motor is used as a synchronous condenser?

A) Varying the motor load B) Varying the rotor excitation

C) Varying stator voltage in motor D) Varying stator current in motor
Why the LED’s are avoided as converters in rectifier diodes?

A) Heavily doped device B) Very low power device

C) Designed for light emitting D) Very sensitive to temperature
How many characters are in hexadecimal number system?

A)6 B) 8 )12 D) 16

What is the reason for barrier voltage is more in silicon material?

A) Lower atomic number B) Resistance is very low

C) Doping percentage is more D) Valance electrons are two only
What is the purpose of using binary coded decimal (BCD) system in digital circuits?
A) Storing the data inputs B) Control the binary system

C) Interface to binary system D) Segregating the input parameters
Why negative feedback is required in amplifier circuits?

A) To reduce the distortion B) To increase the amplification factor
C) To increase the output voltage gain D) To increase the output current gain
What is the main application of a Field Effect Transistor (FET)?

A) Voltage control device B) Current control device

C) Positive feedback device D) Low input impedance device
What is the peak voltage of 220V rms AC voltage?

A)310.02V B)311.17V C) 31225V D) 315.20V
Which cable ties are used to bunch the wires?

A) Silk ties B) P.V.Cties C) Nylon ties D) Cotton ties
Which device protects from overload and short circuit in a panel board?

A) Isolating switch B) Time delay relay

C) Thermal overload relay D) Miniature circuit breaker

Which is the correct sequence operation of contactors for operating automatic star delta strarter?
A) Timer—Delta—Star—Main B) Delta—»Timer— Main—Star

C) Star—»Delta—Timer—Main D) Delta»Main—Timer—Star

Which device controls the operations in sequential control systems?

A) Timer B) Relays C) Contactor D) Control transformer

How the contacts in a contactor can be engaged for working?

A) By manual operation B) By mechanical settings
C) By operating electromagnet to change the position

D) By using bimetallic strip to change the position

Which control system consumes very low power for motion control in AC and DC motors?

A) Field control B) Drives control C) Voltage control D) Armature control
Why it is necessary to keep V/F ratio constant in a drive?

A) Keep the stator flux maximum B) Maintain the rotor current minimum

C) Maintain the speed of motor constant D) Maintain the rated torque at all speeds
What is the full form of abbreviation UPS?

A) Uniform Power Supply B) Universal Power Supply

C) Unregulated Power Supply D) Uninterrupted Power Supply

Which is the application of automatic stepped voltage stabilizer?
A) Geyser B) Grinder C) Television D) Pump motor
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Which is the conventional power generation?
A) Wind power generation B) Tidal power generation
C) Solar power generation D) Thermal power generation

What happens to solar cell, if the intensity of light is low?
A) Output increases B) Output decreases C) Output remain same D) No output in the cell

Which type of A.C transmission is universally adopted?

A) Two phase four wire B) Two phase three wire
C) Single phase two wire D) Three phase three wire
What is the purpose of trip coil used in circuit breakers?

A) Easy operation B) Remote operation

C) Accurate operation D) Emergency operation
The electric current is due to flow of

A) Positive charges B) Negative charges

C) Both positive and negative charges D) Neutral particles only

If the current in an electric bulb drops by 2%, the power decreases by
A) 2% B) 4% O 1% D) 16%

A battery is made by combination of 6 cells in series, each capable to deliver 4 amperes at 2
volts. How much voltage and current can it deliver
A)12Vand 24 A B)2Vand 24 A C)12Vand4 A D)2Vand4 A

In a series RLC circuit, Vg =24 V, Vi= 15V, Vc=45 V, what is the source voltage?
A)38.42V B)45V O 15V D)24V

Two incandescent light bulbs of 40 W and 60 W rating are connected in series across the mains
then

A) The bulbs together consume 100 W B) The bulbs together consume 50 W

C) The 60 W bulb glows brighter D) The 40 W bulb glows brighter

Wi and W; are the readings of two wattmeter used to measure power of a three phase
balanced load. The reactive power drawn by the load is

A) Wi+W, B) Wi-W, C) V3 (Wi-Wy) D) V3 (W1+W,)
The three resistors each of R ohm are connected in star. When they are formed into delta
connections the resistance of each arm will be

?

A) 2R ohms B) 3R ohms C) 4R ohms D) R/2 ohm
Which kind of heat transmission takes places by up-ward flow?

A) Conduction B) Convection C) Radiation D) Reflection
Which one is heat insulator?

A) Thermocole B) Copper C) Brass D) Aluminium
What is the filament resistance if a 6 volt bulb draws a current of 0.5 Amps?
A12Q B) 10 Q 030 D)120Q
Which insulating material is used for making switches?

A) Porcelain B) PVC C) Bakelite D) Ebonite
Which alloy steel is used for making precious instrument?

A) Silicon steel B) Manganese steel C) Invar steel D) Vanadium

In a certain code language, ‘PRISM” is written as ‘OSHTL’ and ‘RUBLE’ is written as
‘QVAMD’. How will ‘WHORL’ be written in that same code?
A) XIPSM B) VGNQK C) UINSK D) VINSK

In a certain code language, ‘617" means ‘sweet and hot’, ‘735’ means ‘coffee is sweet’ and
263’ means ‘tea is hot”. Which of the following would mean ‘coffee is hot’?
A) 731 B) 536 C) 367 D) 753



103. In the following question, there is a certain relationship between two given numbers on one side
of ‘:’” and one number is given on the other side of ‘::* while another number is to be found
from the given alternatives having the same relationship with this number as the numbers of the
given pair. Choose the best alternative.

353:13291:2

A) 40 B) 35 o580 D) 71
104. Choose the group of letters which are different from others.

A) EH2 B) FL5 C) KS6 D) QZ8

Directions (Q.No. 105 - 107) Ten students A, B, C, D, E, F, G, H, I and J are sitting in a row facing
west. B and F are not sitting on either of edges. G is sitting to the left of D and H is sitting to
the right of J. There are four persons between E and A. I is to the North of B and F is to the
South of D. J is in between A and D and G is in between E and F. There are two persons
between H and C.

105. Who is sitting at the fourth place counting from right.

A)H B)C (O} D) Either H or C
106. Who among the following is definitely sitting at one of the ends?

A)C B)H OE D) Cannot be determined
107. Who are the immediate neighbours of [?

A)Band C B)B and H C)Cand H D) either option A) or B)

108. A person starts from a point A and travels 3 km eastwards to B and then turns left and travels
thrice that distance to reach C. He again turns left and travels five times the distance he covered

between A and B and reaches his destination D. How far and in which direction is he from the
starting point A.

A) 12 km NW B) 15 km NW C) 15 km NE D) 18 km NW

109. In a row of boys, Rajan is 10th from the right and Suraj is 10th from the left. When Rajan and
Suraj interchange their positions, Suraj will be 27th from the left. Which of the following will be
Rajan’s position from the right?

A) 27th B) 26th C) 29th D) 25th

Directions (Q.No. 110 - 112) A, B, C, D, E, F and G are the seven members of a family. There are
three females among them. There are two married couples in the family. Each of them has a
different profession from Architect, Lawyer, Doctor, Teacher, Engineer, Manager and Musician,
not necessarily in the same order.

B is the Lawyer and he is married to F, the Manager. A is brother of G, who is the Architect. C
is the Doctor and is an unmarried lady. D is the Teacher and the sister of G. E is not an Engineer.

110. Which of the following combinations is definitely correct?

A) B- Male- Manager B) B- Female — Lawyer
C) C- Female —Musician D) E- Male — Musician
111. What is E’s profession?
A) Doctor B) Musician C) Teacher D) Data inadequate
112. Which of the following pairs is a married couple?
A) BF B) AE C)ED D) Both option A) & C)

113. Find the missing term of the given series?
32, 87,332, 1635, ?
A) 9000 B) 8775 C) 9774 D) 6549

114. Samir’s age is one-fourth of his father’s age and two-third of his sister Reema’s age. What is the
ratio of the ages of Samir, Reema and their father respectively?

A)2:3:8 B)3:4:8 C)3:2:.8 D)4:3:8

115. Raviis son of Aman’s father’s sister. Sahil is son of Divya, who is the mother of Gaurav and
grandmother of Aman. Ashok is the father of Tanya and grandfather of Ravi. Divya is wife of
Ashok. How is Gaurav’s wife related to Tanya?
A) Niece B) Sister C) Sister- in- law D) Data inadequate



116. Study the diagram given below and answer the question:

The Triangle in the above figures depicts the Villages, the Square depicts the Unemployed
Women and the Circle depicts the Educated Women. Educated unemployed women in villages

are represented by :
A) A B)B C)D D)E

117. Three statements followed by two conclusions are given. Assuming the statements to be true
decide which of the the given conclusions logically follow from the given statements
disregarding common known fact.

Statements: All rings are fingers. Some ears are fingers. All ears are necklaces.
Conclusions :  I) Some necklaces are fingers.
II) Some necklaces are rings.
A) None follows B) Only I follows C) Only II follows D) Both I and II follow

118. Which one of the four answer figures should come at the right of the problem figures, if the
sequence is to be continued.

Problem Figures Answer figllrmes
=8 (|¢ O=[Oo ¢ s[s =0OF s ¢ TOAK e=[( O=|( ©=
o (m] [ siA =k Clo O 0 sl0 S0 si0 s
T OAAG TI0 Tolo ADIT 0 A —o(lADTIAo TIADO T
1 2 3 4 5 A B c D

119. How many rectangles are there in the following figure?

A) 7 B) 12 C)8 D)9

120. Two Positions of a dice are shown below. When there are two dots at the bottom, the number of

dots at the top will be

® o o. c.
& el ® »
- ®.le s
@ (i)
A) 2 B)3 05 D)6

121. What is the difference between an Internet and Intranet?
A) Internet is used to access worldwide information via computers & modems and
Intranet is used to access information within a particular environment.
B) Intranet is used to access worldwide information via computers & modems and
Internet is used to access information within a particular environment.
C) Intranet is more global compared to Internet.
D) Internet and Intranet are the same.

122. Which of the following statement(s) is/are true with regard to websites?
P: A blog is a website that consists of posts in reverse chronological order.
Q: A wiki is a website that is designed to allow people to collaborate easily.
A) P only B) Q only C) BothP and Q D) Neither P nor Q
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A is a small program that helps to automate a frequently used series of
commands in most productivity software tools.
A) Macro B) Utility C) Template D) Wizard

Microsoft introduced the taskbar in Windows 95 in 1995 and the feature has been a defining
aspect of Microsoft Windows and many other operating systems and desktop environments
since. Task bar in Windows can be placed at

A) Bottom edge of your screen only. B) Top edge of your screen only.
C) Bottom edge or Top edge of your screen only. D) Any edge of your screen.

In the context of MS-EXCEL, what happens when dollar signs ($) are entered in a cell address?
(e.g. $B$2:$B$10)

A) An absolute cell address is created.

B) Cell address will change when it is copied to another cell.

C) The sheet tab is changed. D) The status bar does not display the cell address.

Consider the following Excel spreadsheet:

What is the value of the formula: =IF(A3<B3, IF(A3<C3, "Small", "Medium"), "Large")
A) Small B) Medium C) Large D) A3<C3

In Microsoft PowerPoint, presentation designs regulate the formatting and layout for the slide
and are commonly called A

A) Design plates B) Templates C) Placeholders D) Blueprints

With regard to a word processing software, the process of combining static information in a
publication together with variable information in a data source to create one merged
publication is called

A) Electronic mail B) Data sourcing C) Mail merge D) Spam mail

In MS-WORD, what is gutter margin?

A) Margin that is added to the left margin when printing

B) Margin that is added to right margin when printing

C) Margin that is added to the binding side of page when printing

D) Margin that is added to the outside of the page when printing

From what has the term ‘Wi-Max’ been derived?

A) Worldwide Interoperability for Microwave Access
B) Worldwide Interconnection for Microwave Access
C) Worldwide Interchangeability for Microwave Access
D) Worldwide Interconnection for Multiple Access

Directions (Q.No.131-133): Choose the correct synonym of the following words out of the four

i31;

132,

133

options

Hedonism

A) Self —indulgence B) Inertia C) Gaiety D) Pessimism
Cabal

A) Cable B) Clique C) Cagey D) Correlated
Desultory

A) Opposite B) Wide C) Casual D) Attractive

Directions (Q.No.134-136): Choose the correct antonym of the following words out of the four

134.

options
Sever
A) Severe B) Hard C) Join D) Separate



135. Tenable

A) Defensible B) Orthodox C) Indefensible D) Terrible
136. Convalesce

A) Visible B) Deteriorate C) Brittle D) Scattered
Directions (Q.No.137 -139): Choose the correct preposition out of the four options:
137. Pradeep dotes is son Aditya.

A)on B) for C) at D) by
138. Sita can’t believe that Hari would accuse her ____ theft.

A) for B) of C) with D) by
139. Salil should try to bring Sita round his views.

A) with B) to C) about D) upon

Directions (Q.No.140-142): Choose the correct meaning of the given Idioms out of given options:-
140. To carry weight :

A) to carry burden B) to be burdensome  C) to be ineffective D) to be effective
141. To bite the duct :

A) to be defeated B) to die C) to delay D) to waste energy
142. To bring the house down :

A) to get defeated ‘ B) to defeat one’s rivals

C) to make an audience respond with great enthusiasm D) to injure others

Directions (Q.No.143 - 145): Mark the underlined part, out of the four options, that has an error:
143. Many aman have done so.
A) B) &) D)
144. No less than fifty students were  injured in the stampede.
A) B) &) D)
145. Shantanu and I discussed about the matter yesterday.
A) B) &) D)

Directions (Q.No.146 -148): Out of the four given options, choose the correct form of the indirect
narration.
146. Ravinder Jadeja said, “How clever [ am !”
A) Ravinder Jadeja exclaimed with grief how clever I was.
B) Ravinder Jadeja exclaimed that he was very clever.
C) Ravinder Jadeja declared with pride that he is very clever.
D) Ravinder Jadeja said that he is very clever.
147. He said, “ Bravo! You have done well.”
A) He congratulated him and said that he did well.
B) He applauded him, saying that he had done well.
C) He praised him and said that he would do well. s
D) He praised him and said that he had been doing well.

148. Sonu said to me, “Where are you going?”
A) Sonu said where he was going. B) Sonu asked me where I was going.
C) Sonu asked me where you were going. D) Sonu told me about his going away.

Directions (Q.No. 149 & 150): Choose the correct form of the following words as the given part of
speech out of the four options:
149. Above as noun:

A) Our blessings come from above B) The heavens are above

C) The moral law is above the civil D) Analyse the above sentence
150. After as adjective:

A) They arrived soon after B) He takes after his father

C) We went away after they had left D) After ages shall sing his glory
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SUPERINTENDING ENGINEER, ELECTRICAL CIRCLE, UT CHANDIGARH
Posts: (i) Junior Technician (Electrician) &

(ii) Junior Technician (Lift Operator)
Answer Key: (A Series), 30.4.2023 Sunday (Morning)

Que. | Ans Que. | Ans. | Que. | Ans. |Que. |Ans. |Que. | Ans. | Que. Ans.
1 C 26 D 51 D 76 C 101 D 126 A
2 B 27 C 52 B 77 D 102 B 127 B
3 B 28 C 538 D 78 B 103 C 128 C
4 A 29 A 54 C 79 A 104 C 129 C
5 D 30 B 55 D 80 C 105 D 130 A
6 A 31 D 56 A 81 B 106 C 131 A
¥ B 32 B 57 A 82 D 107 D 132 B
8 C 33 A 58 C 83 D 108 C 133 C
9 B 34 B 59 D 84 C 109 A 134 ¢
10 C 35 D 60 C 85 D 110 D 135 C
11 C 36 B 61 A 86 B 111 B 136 B
12 C 37 D 62 C 87 D 112 D 137 A
13 D 38 C 63 C 88 B 113 C 138 B
14 B 39 D 64 C 89 C 114 A 139 B
15 A 40 B 65 D 90 B 115 C 140 D
16 C 41 D 66 D 91 C 116 D 141 A
17 C 42 A 67 A 92 A 117 B 142 C
18 B 43 D 68 B 93 D 118 C 143 C
19 C 44 D 69 B 94 C 119 D 144 A
20 D 45 A 70 D 95 B 120 B 145 B
21 D 46 B 71 A 96 B 121 A 146 B
22 B 47 A 72 A 97 A 122 C 147 B
25 D 48 C 73 A 98 A 123 A 148 B
24 A 49 A 74 A 99 C 124 D 149 A
25 A 50 B 75 B 100 C 125 A 150 D




